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You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
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s

12,

13

14, Y-

15.

ST, SeaR-afEae & T 1w el & THw, AT TITEY & YT TS 9T U 3NUHANR 3cck-

Wﬁyﬁamﬁ%wa@rmmmwél
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

Teh Y2 & Tl 317 3l ITeld HIAT SATTAT |

Multiple answers for a question will be regarded as wrong answer.
SR gt Fe 3 AR grA-gRae vl Fis . AR Seax qRedwn o fAfcee T o
forgs T2 v

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

yeaT-gfecTehT 3 HTTeRT ATH AT JFTshaieh el fordd |

Enter your Name and Roll Number correctly in the question booklet.

NTAAR Il -Wﬁﬁqﬁﬁﬁmﬁmﬁ%aﬁqﬁtﬂa@ﬁﬁmml
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qfieT et 3 Fordeter 1 3UfEUfY 7 &1 39! gier-fedhe T gEdle i e Tl

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

ATE-TE, AlE A1 e A HeAT A & STea|

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

q&T o7 8l W, HTANR SeaR-gfEael Y IR & Ses [Hr & S 3 e AR
SecR-feaa foiaTn o Sl e ggdl ai 39 oTE W

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

gfeceT 33t 3Te uTe T8 HHA ¢

The question booklet can be retained by the candidates.

Qe 3 TUH 5 & 2RreT 3ra i w odeT e Svge I ATATT AL &
Candidates are not permitted to leave the examination hall during the first hour of the examination.
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For cantilever beam main reinforcement is placed at

(a) «rd/Bottom (b)  #e"/Centre
(c) I Top (d) 3TEmR/Support

U 9eTy &7 geg A ....... §1/Mass of a substance is

(@) 3IFast X gadca/Volume X Density (b) gegaT X gaca/Mass X Density
(c) &% X gsica/Area X Density (d) 3‘1‘{1% gsfi/All the above
H F YSS { THAA Y53 & 1 &l Ifediee ollged .....ooveveee gl

------- is the line of intersection of a level surface with the surface of the ground

(@) @ @r/Line of collimation (b)  wuT Fars/Height of collimation
(c) wFATA/Contour (d)  sEHAYsE/Datum surface

The most important line in a survey is

(@) HTUR @1/Base line _ (b)  gsdra 3@/Check line
(c) 9% W@I/Proof line (d) e @N/Tie line

I v Y & g AR 120 Deg. § aur 3fFemeet 7 Deg. W &, ot saer daehrr 9T ....... Bl

If the true bearing of a line is 120 Deg. and declination is 7 Deg. W, then the magnetic bearing is

(@) 113 f3./Deg. (b) 127 f3./Deg.
(¢ 3713/Deg. (d) 33 f2/Deg.

TTNO F P o ATETHl ... FEd ol

The corner stone or brick inrmasom'y is called

(@) fhor FewKing cléser (b) T FAraw/Queen closer
(c) wars=/Quoin (d)  &ge/Squint
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10.

11.

12

13.

Unit of force in ST unit is

(8) FI/Newton (b) gg«1/Dyne
(¢) fFarwAKg-m (d)  fFar-fA#A/Kg-mm

HF OR A 97R foig T g el héreliar €17 & AT, Tas 3m@ .......... g

For a cantilever beam carrying point load at the free end, the SF diagram will be

(@) 3mad/Rectangle (b)y  TeproT/Triangle
(c) Rm&fae/Parabolic (d)  sHH T FIS Ae/None of these

AFT B A 91X g o7 ag=T atal Shtelta i & fore, fivarsma ., gl
For a cantilever beam carrying point load at the free end, the BM diagram will be

(a) 3mIA/Rectangle (b)  MeRIvrTriangle

(c) Yyraifes/Parabolic (d) 8 ¥ H5 Ag/None of these
CAREPITI T AT FEATAS ....... T

Least count of a telescopic staff is

(@ 0.05#/m (o) 0.005 #FAr./m (c) 0.5 #r/m (d)  0.0005 #r/m
fHA T T F R RERT RIS she T . gl

The concrete slump recommended for beams and slabs is

(@ 75 3ro 125 fAsf/mm (b) 50 &/to 100 F&.H/mm

() 30 3/to 125 A /mm (d)y 25 37to 50 F#FA/mm

a5 foig foraet v yoo W ga grar &1 aRomA FFaRa €, 39 ..o FEA B

The point through which the resultant of the liquid pressure acting on a surface acts is known as
(a) ara-g/Centre of Pressure (b) &l are/ Total pressure

(c) @agme/Liquid pressure - (d)  fAT9eTgre/Absolute pressure

s 8T o WY [TeitereT d1a & forw et 3mgot ........... gl

For a simply supported beam with a central load, the bending moment is

(a) Fm H=g=Ta#/Least at the centre

(b) 3R & =Tt/ Least at the supports

(c) 3R # 3fFda/Maximum at the supports
(d) g H Afdsaa/Maximum at the centre

1369



14.

15.

16.

{7

18.

19.

AT 9 T fFafta 91 &7 agr ¥ f1e7 T da1S & F 10 3RW HT HEN ... gl
The shape of the BM diagram over the length of a beam carrying uniformly distributed load is

(a) Y @%/Linear (b)  Rraifer/Parabolic
(c) wera/Cubical (d)  gecdra/Circular

e foam TfiesT & 3efieT gerey T TS F9 & fawT gl Y AT L ETSE

Ability of a material to deform permanently under compression without breaking is called

(@) JmardaEdarMalleability (b)y  d=gar/Ductility
(©) Ageral/Softness (d)  @eRdar/Hardness

Pipes for water supply are tested for

(@) <r€/Pressure (b) &uT/Leakage
() fa#ArDimensions (d) ECI'{iaa?fH%frfAll of the above

I .........  [ASHIG & [T T SATAT B

Aeration is done for the removal of

(@) Wr/Colour (b)  3tgerar/Turbidity
(c) F3RarHardness (d)  glraieyBad odour

TAET & oy hr wrrererer 7 & 97 ST F gRonH FeEfataa gl

Laboratory tests on a soil sample gave the following results.

ga d@rAr/Liquid limit - 20%

colfees @rAT/Plastic limit - 10%

vy et . : 200 | Seir gé fAET & AT #r gfard/Percentage of soil material passing through

- BS sieve No: 200 = 40%

TAEY T GUCIA YIS ..................... § |/The Plasticity Index of soil is
(@ 20 () 10
© 2 ‘ @ 6

A GI pipe has a coating of
(@) T&&/Zinc (b)  @3/Lead
(c) FaeauSilver (d)  vaAREA/Aluminium
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20.

21;

22.

23.

24,

Geodetic surveying is different from plane surveying because of

(a) gedrrashar/The curvature of the earth
(b) ﬁﬁﬂ%@ﬁ%ﬁmﬁrﬁ@ﬁm%w
The large difference of elevation between various points
(¢) ey & HRFearUndulations of the topo graphy
(d) 39dFd & & &5 g/ None of the above

m456:2000$wmmﬁmﬂﬁﬁﬁmma§mmm ............... gl
The maximum cross sectional area of longitudinal bars permissible in a column as per IS 456:2000
is

(a) T aReda & Fel &1 1 4 %4 % of gross area of column section

(b) & aREde & Fer &t &0 0. 4 %/0. 4 % of gross area of column section

() THaReEda®H He A H 6 %6 % of gross area of column section

(d) TOwaRedesgaaTa0.15 %/0.15 % of gross area of column section

Wgﬁmﬁaﬁm%ﬁmﬂésﬂm .................. q A 6T g 18T
For a well conditioned triangle, no angle should be less than

(@) 20f3/Deg. () 30 f3/Deg.
(c) 45f3./Deg. (d) 60 f3/Deg.

In chain surveying a tie line is primarily provided

(a) TFaTor T T i Sird F=/To check the accuracy of the survey

(b) farge wderor & faw site o/ To take offsets for detail survey |
(c) e & Aot 3fwde & say/To avoid long offsets from chain lines

(d) G @ S HE ga@/To increase the number of chain lines

ABCD s G 1 IR weifc ¥ A AB Wi &t aariar 75 f2. %, @ DC & aafier ... G|
ABCD is a rectangular plot of land. If the bearing of the side AB is 75Deg. the bearing of DC is

(@) 75 f./Deg. (b) 255 8./Deg.
(©) 105 3/Deg. (d) 285 %3/Deg.
6 1369



25.

26.

a7

28.

24

30.

31.

ST Ueh T T 3T 38 37MTehed b dekel & gl W 87 Sgehd aToeret &1 feham ST §, oY A oarg &1 3
............ g1t

When a chain is used at a temperature more than the temperature it was calibrated the error in
measured length will be

(a) FFA/Cumulative (b)  "iaqe/Compensating
(c) HUTcHAF/Negative (d)  99UTcHAS Ffe/Observational error

Fargee aaiiar N 15 3. 28 &, W T et gt 9T fohaar &2
What is the whole circle bearing of a quadrant bearing N 15 Deg. 28 Min W

(a) 195 f3/Deg. 28 fA./Min. (b) 164 f3/Deg. 32 f&./Min.
(c) 344 f3/Deg. 32 ./ Min. (d) 344 f2/Deg. 28 f&/Min.

Accurate centering of a plane table is done by

(a) TR waa/Spirit level (b)  ceifder wi/Plumbing fork
(c) ufasg/Alidade (d)  YfesierWs/Ranging rod

E1 22| o I &I Uh TR 5|

Common sand is a variety of

(a) erarse/Calcite (by  FEEE/Quartz

(¢) Westur/Feldspar (dy  Farrge/Chlorite

A2 3 $¢ 951 & o 3 781 §/The soil not good for making bricks is

(@) el FAZ/Black cotton (b)  Steile AEVAlluvial

(c) @EHI/Silty (d)  Yagaure/Sand and silt
HA STA A oo aAfAa gl

Sewer pipes are made of

(@) #eeTs/Earthen ware (b)  WHITStone ware
(c) E_g‘[ﬂ?ﬁ'& Fol/Refractory clay (d)  &erET/Terracotta

Ueh Yraforet shshie e a1 JreTey aitesse faare 300 x 1000 2.3, &1 M 25 i dar Fe 500 315 5edrd Hiet
ar, aRede & oater 3maot ... W — gl

A reinforced concrete beam has cross sectional dimensions 300 x 1000 mm. Assuming M 25 grade
and Fe 500 grade steel, the cracking moment of the section is

(@ 175 kNm (b) 200 kNm
(c) 350kNm (d) 150 kNm
7 1369



32.

33,

34.

ga

36.

37-

Turpentine oil is used in paints as

(a) f=/Thinner (b)  dfgwel/Vehicle
(c) «a/Base (d)  3rEYDrier
e TR Hg 38T &1 ZRe 3R (g/om’ ) FhE o 3

The unit weight of rolled structural mild steel is about (in g/crn3 )

(@ 245 (b)  6.40

() 7.85 @ 9.0

Wﬁﬁﬁ%%ﬁrﬁmm#%maw ........ gl

The most commonly used base for timber painting is

(a) o eis/Red lead (b)y  fIFarse/Zine white
(c) drse oig/White lead (d)  eEcigH arge/Titanium white

mﬁgmﬁz#?ﬂﬂg‘waﬁﬁw%l

The three main raw materials for Portland cement are

(a) T ICR, FEANAT e 9 Fol/Limestone, sandstone and clay
(b) <, TAferer @ Fel/Lime, silica and clay

(c) TN, Fo g forew/Lime, clay and gypsum

(d) fafer, v @ fSrew#Silica, alumina and gypsum

Soundness test of cement determines

(a) for:3ee 9ot dr auranQuality of free lime  (b) TxH grEed/Ultimate strength
(c) TFFgaA/Durability (d) w3 sea/Initial setting

AR gert & & frad 97 AT & gay 310w AT §7?

Which one of the following substances has the largest value of Young’s modulus?

(a) &s/Rubber (b)  =rgaE/Nylon
(c) digrIron (d)  die/Copper
8
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% b TF ITAT h & Sheeh 3787 & 9 & FATAICR Uah 107 &l S75¢q 3TH0T ........ gram|

The moment of inertia of a triangle of base b and altitude h with respect to centroid axis
parallel to its base would be

(@) bh%12 (b)  bh’/18
(c) bh’/36 (d  bh’3
IIEF AT o, L= & o & ITIT &

The mechanical advantage is the ratio between

(@) R T AR g1 @& %1 771 gli/Load and distance moved by the effort
(b) R & $TR ERT & 1 15 g{i/Load and distance moved by the load

() &RT mm/Load and effort

(d) 3w g s/Effort and load

STe Uk O AT J56 | TRehell &, TS T cad o ..o S AT ST &

When a body slides down an inclined surface the acceleration of the body is given by
@ g (b)  gsinb

(c) gcosb (d)  gtan@

STET, ‘g’ TRcalehyTT caloT JT 0 &ifeie ¥ I53 F A=Al T |

Where, ‘g’ is acceleration due to gravity and 0 is the angle of inclination of surface with the
horizontal.

The critical section for evaluating the bending moment for an isolated footing is at the

(a) FAS/AE F Bers/Face of column/pedestal

(b)  EToT/dIEHT o ok Fd’/2 g T/At ‘d’/2 distance from face of column/pedestal
(c)  TAsI/dTEHT & Heteh T “d” g T/At “d’ distance from face of column/pedestal

(d) T/ & BT A d’/4 gt TUAL ‘d’/4 distance from face of column/pedestal
STeT “d” Piear iy gy eS8/ Where “d’ is the effective depth of footing.

gadTiold Tatge ag AN & S ST Fall & ....o.o... I GRATHT ST B

Hydraulic turbines are the machine which converts water energy into

(a) dif3s Fsi/Mechanical energy (b)  faegda F/Electrical energy
(c) WRFa/Solar energy (d)  ¥gUIfed Feil/Automatic energy
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44.

45.

46.

47.

Centre of buoyancy always

(a) 71%ca ek & AT &l %/Coincides with the centre of gravity
(b) Preefi e & e & 3T & AT TG ©

Coincides with the centroid of the volume of the fluid displaced
(c) Iocd &= ¥ YL TEaT o/Remains above the centre of gravity

(d) ¥FcaFEF i TeaT ¥/Remains below the centre of gravity

15 2 207, o &1 T aiteren, 3t 3 0.9 fafirse treiea & 7 Ta 0.8 poise AT AT T 2 MAF
TR 397 F TAT §, AT S FET e g

For a sphere of radius 15 cm moving with a uniform velocity of 2m/sec through a liquid of specific
gravity 0.9 and dynamic viscosity 0.8 poise, the Reynolds’s number will be

(a) 300 () 3375
(c) 600 d 675

0.751%*?&%.31%?&,5;%31&,2#.?%@;3m.ﬁmﬁﬁmmwmmmﬁﬁm

Water displaced by a floating rectangular wooden block of Sp. gravity 0.75, 5m long, 2m wide and

3m high is

(@ 17.5m° ©  20.0m’
© 225m’ @ 25m
ITEHSE FAT oo gl

Non-cohesive soil is

(a) Ya@/Sand ' () @Sl
(c) F/Clay - | @  (b)d(c)a=tBoth (b) and (c)

3ﬂg@r800:2007axagm,maqﬁfmﬁﬁwwmﬁqﬁﬁ*ﬁvwmmwm%
T & PROT e AT ST TART v gl

As per IS 800:2007, the maximum allowable vertical deflection due to the combination of dead load
and live load for purlins supporting elastic claddings is

(@) faegfar120/span/120 by  faeafar180/span/180
(c) faEgfr150/span/150 ) faegfa240/span/240
10 1369



48.  gearey HIAT & 3e3 ST o ol Cardl 31 ... = l

Poisson’s ratio for steel within elastic limit, ranges from

(@ 0.153/to 0.20 d= (b) 0.24 @/to 0.25 d=
() 0.25%/t0 0.33 a* (d)  0.33 3o 0.35 =&

49. a2l cerel & A o gt & 31T Solel A Gahl SITdT &, 39 AT &l ..., FEaEl

When two plates are placed end to end are joined by two cover plates, the joint is known
as

(a) T HR/Lap joint

(b) &z |f/Butt joint

(c) daRafeas™ @/Chain riveted lap joint
(d) argr 3maer 92 @f/Double cover butt joint

50. ara¥ya& w7500 %. & fovw aramer sarst 750 &, ¢ sarat fr et ..., gl
Simple interest for Rs 7500 for 2 years is Rs 750. Rate of interest is

(@ 10% b 5%
(0 2% (d) 20 %

51. Jeax?+y*+8x—6y+7=0&FFx ... gl
Centre of the circle x> + y* + 8x — 6y + 7 =0 is

@ (4,-3) (6)  (-4,3)
© (0,0) @  (8,-6)

52. 9oy @t afcerd sEara afiesa & § €19 & &9 & WRUCET YgFd TREDE ........... gl
Out of all the available rolled steel sections the most commonly used section as beam is

(@) &E-afEde/T-section (b)  uE-uRzde/L-section
(c) 3me-9R=de/I-section (d) el aR=de/Channel section
53. HATEI WEROTAAT W .......c..... H RU S E

A man hole is generally provided at each

(a) d&/Bend '

(b) HeTsh el SITH I sl Td doi/Junction and change of sewer dia
(c) wavuTar 9Radst/Change of gradient

(d) 3wiFa @Al the above

A 11 1369



54.

55.

56.

57.

58.

59.

60.

AT & & Hiet STor SR Sars a1 Sy 461 22

Which of the following is not a water borne disease?

(a) TEFATIER/Dysentery (b)  Frer/Cholera
(c) <EHizs/ Typhoid (d)  Fea@/Malaria

Stress is equal to

(@) X &F/Load X Area (by  #myeTa/Load/Area

(c) & /sm/Area/Load (d) zHA A HS A61/None of these
feTfafad 7 & @i Aeerg Amr 2

Which of the following is fundamental quantity?

(@) <iere/Length (b)  ZEIA/Mass

(c) THI/Time (d)  TfVAll of these

forecgfer L = eqereiferer dier, <fter & 3 21 g 1R W o T ot SToiell &1 3ifRiehcta st 3ot ... gl

A simply supported beam of span L carrying a point load W at the centre of the beam.
The maximum bending moment is

(@ WL (b) WL/2 (c) WL/4 (d WL/6

& d & U Jecd AT IRAT ....... §1

Perimeter of a circle of diameter d

(@ 2nd (b) md (¢ mwdR2 @ mwd?

SI gfie & Sigea st ar gfae ... B

The unit of moment of inertia in SI unit is

4 8

(@ m (b) m? € m (d m
b =300 mm ; A =600 mm” ; fy =500 N/m” &2 3ealrereh 3757 z =300 mm & ZeFer Tar et & Hfe

T TR DT ..o Bl

The ultimate moment of resistance of a beam with b =300 mm ; Ag; =600 mm? ; fy =500 N/m? and
lever arm z =300 mm is

(@ 90.2kNm b)  56.7kNm
© 783 kNm @)  120.5kNm
12 1369



61.

62.

63.

64.

65.

66.

67.

S VST & U O Hiex F hllael .o

One cubic meter of brick masonry contains approximately

(a)
(c)

300 $e/bricks
400 ge/bricks

(b)
(d)

350 ge/bricks
500 ge/bricks

U AGH 50 7. 1 I FUIEAA 8139 ... FhR ¥ for@r g
In a map 50m is represented by 1 cm. It is written as

(@)
(c)

37efIar HST e & 3R Fged Teh TIAATCHE AT AT

508, #Ar/em =19 dA/cm
] #l/m=14%9 #r/cm

(b)
(d)

1@ #r/em = 50 #r./m
504 #Fr/cm =1 #/m

A structural member subjected to axial compressive force only is

(@)
(c)

Fa97/Column
drF/Beam

(b)
(d)

Too/Strut
B‘\E/Hook

e 8 TR, T AT g @ T F RIS IR A G A L I B
The distance from the centre of one rivet to the centre of the adjacent rivet in one row is
called

(@)
(c)

gfFd 3iarer/Row pitch
39id/Margin

Rivets are specified by its

(a)
()

ofry sar@/Head diameter
“arg/Length

(b)
(d)

(b)
(d)

faeruft 3iatre/Diagonal pitch
3eRrel/Pitch

¢t =ar@/Shank diameter
fafea verd/Material made of

AT T EATHT T Feerat F 3w A, il al ey U F R F T A G
ERE IRy
In the design of connections in steel structures, the distance between the centre of any two
adjacent fasteners shall not exceed

(a)
(c)

16t Ir/or 300 mm
100 mm + 4t

(b)
(d)

12t Ir/or 200 mm
32t Ar/or 300 mm

BT ‘t” oY Tole &1 Alers § / Where “t” is the thickness of the thinner plate.

&a gsa 7 TRETS Fr 3fg & wry fAfSad e A g@ A dfmar A gl

The intensity of pressure on an immersed surface

its depth from the liquid surface

(a)
(c)

gfé/Increases

qR@de 1gl gidr/Does not change

(b)
(d)

13

gr/Decreases
5H# ¥ IS Az1/None of these

with the increase in
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68.

69.

70.

41z

72.

713.

The velocity of a moving body is

(@) HfErAEIVector quantity (b)  3fferAENScalar quantity
(c) f&=RAmEyConstant quantity (d)y  ZFH T FIS A6/ None of these

Unit of stone masonry is

(a) #ewMetre (b) 10 #Hex 2Metre?
© e /Metre (d) =TI FIS ag/None of these

TS &1aR & Feddr 8 Feafaf@d 7 & few 3SR &1 37T fsam sar €2
Which of the following tools is used for verticality of masonry wall?

(@) void d/Plumb bob (b)  STerde/Water level

(c) glae/Trowel (d)  TeaRe afaa/Spirit level
GICels B FT AT UTH ... gl

The main constituent of Portland cement is

(8) UAATAlumina (b)  &R/Alkalis

(c) "ewe/Sulphate (d)  gaAVLime

gl Frel dier, vy Fregfar 5 1, teré b = 300 e, e sy a1 d = 500mm e &
Tied vsF FA &7 & RAaRa 10 kN/m Gar IR 9Ra) H1 &1 96 X 1@ & ar Refaa AT 319%qor

For a simply supported beam of span 5 m, width b = 300 mm and effective depth d = 500mm
carrying a factored uniformly distributed load of 10 kN/m, (including self weight). The nominal
shear stress developed is

@ 0.33 N/mm? (b) 0.47 N/mm?> )  0.26 N/mm?® (d 0.167 N/mm?

a5 faig o s &1 1 R H1E F@TE, oo FEeAlT B |
The point through which the whole weight of the body acts is called
(a) I%ca-e/Centre of gravity (b)  #R/Weight
(©) I®ca/Gravity (d)  Fe/Centre
14 1369



ag TS i Tl AT F FoATeT Wed e AT SRl €, o gl

The material which exhibit the same elastic properties in all directions are

(@) wegrey #H/n elastic (b) gaEN/Homogenous
(c) THGIAH/Isotropic (d)  3fefe/Orthotropic

The ratio of stress to strain is

(a) gcarEydr/Elasticity (b)  weareydr Argi/Modulus of elasticity
(c) 3=t AeR/Bulk modulus (d)  HH A FIs 751/None of these

& 1, Fer A9 B, sigca 3mget [ vd fou 3 Hfed R P & Héreliay e &1 3ifiashad [@eid ........... gl
Maximum deflection of a cantilever beam of length [, Young’s modulus E, moment of
inertia I and concentrated load at tip P.

PI3 PL2 P13 plt

28E] L) Sl © = @ 3=

(a)

W&F TR 2x + ¥y = 3, 4x + 2y = 6 I 9Ol & [0 gell T {E&AT ... gl
Number of solutions for the system of linear equations 2x +y = 3, 4x + 2y = 6is
(a) 3=id/infinite (b)  sfgd™/unique

(c) grtwo (d)  FEEAA6/no solution

god &1 251 a. WAL &Tthel ¢ | ST IRFT ......oo gl

Area of a circle is 257 sq.cm. Then its circumference is

(@) 5md#A/cm (b) 107 .7 /cm
(c) 10 F#r/cm ‘ (d) 5 ¥.#T./cm

o T SR 15 mil, 50 mi 39K 75 mi 5t emar w@a 8| Tl oft wrom SR & wegof W o o organ e
Y

Three measuring jars have capabilities of 15 ml, 50 ml and 75 ml. What is the least capacity which
can be perfectly measured by any of the measuring jars?

(@ 100 ml by 75ml (c) 150 ml (d) 450ml
7§—3_7§ ....... F TR

ﬁ—iﬁ is equal to

@ V3 - V2 by V3+ V2 © 1 @ 3
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